BB B B (B ) £5K 2011+12-31 KR HhEE S814,0 KiB20,5 EE KA
AA L > I L [
K4 B R w5 B (100w & |E® |5 P [1i00® I il i
INEA ~ 2FE
1 BB ET E 50 53 400 1 |46 |30 BRE
2 (SIS E 50 52 400 1 36|90 BRE
3 LS z 50 113 400 1 [51]90 REH
4 BRAA 2 50 1 |10 400 1 |46 | 70 B E
5 B E 50 11 400 1 |49 |80 BRE
PNEI~4FE
1 BWAREK E 100 1|20 800 3 |12 |40 BRE
2 AT R z 100 1 |48 800 3 |16 |30 BRE
3 BNEHE | &« 100 1 |42 800 3 1240 RBEE
4 100 800
800
NE5~6FE BF
1 BHE 2 200 3 |51 1000 [ 4 | 0 |10 RER
2 18)IEth 2 200 4 120 1000 [ 4 |11 |10 BEHE
3 B R E 200 5 |49 1000 | 4 |37 |70 BRE
4 BRI E 200 3 |59 1000 |4 |5 |0 BRE
5 BLURE E 200 2 |26 1000 | 3 |33 |80 RigE
6 Mk E 200 3 |28 1000 | 3 |50 | 0 BRE
7 BIRE 2 200 3|7 1000 | 3 |48 |20 BRE
8 L [ 200 2 |40 1000 | 3 |43 |70 REE
9 EEEa ] 200 2 |56 1000 | 3 |36 |40 BRE
NE5~6FE LF
1 RIGED 4 200 3 |43 1000 |3 [41]0 BRE
2 ERARE | & 200 2 |50 1000 | 3 |49 |60 BRE
3 P 4 200 2 |51 1000 | 3 |36 |70 HEARE |5:27:70 ( 1500m )
4 HEKMEH 4 200 5 |6 1000 | 4 | 8 |40 BRE
5 MWES Z 200 2 |31 1000 | 4 | 0 |80 BRE
12~15m BF
1 EZRAER | B 400 5 |29 1500 | 5 |23 |76 BRE
2 B E 400 5 | 46 1500 | 5 |21 |43 %N
3 L EES E 400 5 |34 1500 | 5 | 4 |56 BRE
4 ENIES E 400 4 |45 1500 | 5 |18 | 38 REE
5 ERAEZE L 400 4 |59 1500 | 4 |52 |41 BEHE
6 REBA ] 400 6 |13 1500 | 5 |26 |61 BRE
7 RAEK My ] 400 5 |31 1500 | 5 |27 |10 BRE
8 SE ] 400 4 | 54 1500 | 5 |28 | 26 REE
9 ELER E 400 4 |50 1500 |DNS RigE
12~15m %XF
1 EHEEE | 400 4 |52 1500 | 5 |14 |53 BRE
2 REMAT | & 400 4 |51 1500 | 5 |10 |28 BRE
3 RILFET 4 400 5 |38 1500 | 5 |51 |62 KERAF
4 AILEE 4 400 5 |35 1500 | 6 |7 |92 REF
5 BAER z 400 5 |16 1500 [ 5 |32 |71 BERE
6 WA Z 400 4 |58 1500 | 5 |44 | 80 BRE
7 MEHEE | & 400 5 |47 1500 | 6 |28 |25 RBEE
16~19m BF
1 400 3000
16~19m XF
1 EREEMSE | & 400 4 |43 3000 [11 ]33] 5 BRE
2 RREHM z 400 4 |58 3000 |12 |12 |21 BERE
400 3000
20@mUALE BF
1 FHERK | B 400 4 |32 5000 [16 [18 | 5 EBE
2 EEEES ] 400 4 |39 5000 [15 |25 |76 EER
3 REHE L 400 4 |15 5000 |16 | 1 |7 BERE
4 HHE= E 400 4 |28 5000 |16 |51 |87 FER
5 2EHNR E 400 4 | 24 5000 [15 |28 | 9 BRE
6 HO®H+ ] 400 4 |11 5000 |16 |46 | 10 BRE
7 Hif =8 2 400 5 | 47 5000 |17 |25 | 24 BEHE
8 EEEL E 400 5 |40 5000 [18 [26 | 0 BRE
9 BRE E 400 8 |33 5000 [DNF RBEE
400 5000
20@UALE ZF
1 BER Z 400 5|6 5000 [19 [41 |25 HE
400 5000




